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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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1) 123 x9=7? [1%]
2) 114+6=7 [1%]
3) 672 +3-132+3=7 [1%]
4) 28 x32=7? [1%]
5) 1008 - 18 =7? [1%]
6) 3.68+7.42=7 [1%]
7) 5-2718 +3.14 =7 [1%]
8 16x1.25=7 [1%]
9) 0.075x0.32=7? [1%]
10) 4000 x 0.000005 = ? [1%]
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23 .29 7 - [19%]

1 1) Evaluate 36 36 36 (Give your answer in fraction.)

cres 23 .29 7
A8 36136 36° ¢

(BEREUTHERT. )

12) Evaluate l — % + é . (Give your answer in fraction.) [1%]

6 9

e 13 5 a
“+%6 g T g o ERISEET.)

/ + 4 1 — Su . (Give your answer in fraction.) [1 0/0]

13) Evaluate 615 10 12

a1 1 11
ATH 695 t490~ 517 - ExMssRET. )
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14) Evaluate 2 g X 3% . (Give your answer in fraction.) [10/0]

aTH 2= ><3_1) o (EELAHBET. )

1 5) Evaluate 2L =5 i (Give your answer in fraction.) [1 o/o]

10 5°

T8 2 % o (ERHUNHRT.

16) Write down the number “four hundred million and  [2.0%]
twenty nine”.

Bl [EEFE=Th ] KRRHEF.
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17) Correct 2 596 714 to the nearest ten thousand. [2.1%]

T 2596 714 REZEHFIZIENEBE 4L,

18) A pack of salt costs $2.80. The price of a pack of rice  [2.2%)]
Is 6.5 times that of the salt. How much do a pack of
salt and a pack of rice cost altogether?

—@%EZSi,—@%m%E%—@%m65%o
HEE—8EXZ DT

19) If x — 25 = 36, then what is 4x + 9? [2.3%]

MR x-25=36, 8l4x + 9 BEEE?
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20) There are 75 students in a class. If % of them are [2.4%)]

girls, how many boys are there in the class?

BEAH 75 AR, HeM S R, MELESE

%2

21) Find the perimeter of the following parallelogram in  [2.5%)]
cm. (Express your answer in algebraic expression.)

AT HITHEEAEARAREZ VER? (BERAREKR
o )

A cm

8 cm

=

B c
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22) The area of the following trapezium is 672 cm?2. [2.6%]
Find x.

D THTRERE 672 cm?, K x.

29 cm

23) Find the shaded area in cm?. [2.7%]

Bt EEHFNERES DT HER?

6 cm

7 cm
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24) The dimensions of a rectangular card are 72 cm by  [2.8%]

56 cm. If a largest possible triangle is cut from the card,
what is the area of the triangle in cm?2?

E—IRRE 72 EX, [ 56 EXNRAFEARLEH—
BEmRAXBN=FF, A=A EERZVEAFEX?

25) John puts a clock on a table. If the hour hand is [2.9%]
pointing towards north, which direction is the
minute hand pointing towards?

NERERFIESEE R EPMAER L. BENFEHE@IE
7. FFERTEEE—7?
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26) Find the product of the two largest prime numbers  [3.0%]
within 100.

K100 U INE KA MEZHZE.

27) Which 3-D shape has 10 edges and 6 vertices? [3.1%]

Wi—E L2 Ef2H 10 &% F0 6 (ATA?
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28) There are 10% kg of watermelons and coconuts on [3.2%)]

a truck. The weight of the watermelons are 3% times
that of the coconuts. How heavy are the coconuts on

the truck in kg?

%Eﬁ?%i1%%ﬁﬁ%ﬁﬂﬂﬂ¥oﬁﬁtm
ﬁﬂ%i%%%?%}%%,ﬁ%ELmW¥Ez

DN

29) Find the volume of the following shape in cm?3. [3.3%]
U TIBEFENERES DI FEX?

cm
\ 3 cm

8
'

3 cm

3 cm
8 cm
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30) The net of a square prism is shown below. Find its [3.4%)]
volume in cm?,

TER—ERZEAFNEREREL, EMO
e Z DI FEK?

17 cm

A

v

26 cm

P10
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31) The time now is 09 : 00. What is the time after 2800 [4.0%)]
hours? (Give your answer in 24-hour time.)

IRTERIREFRSZ 09: 00, 2800 /MNEFERIRFRI R EA?
(BEERWM 24 MNEFIFTR. )

32) There are only chickens and rabbits in a barn. A [4.1%]
farmer has counted 40 heads and 106 legs. How
many chickens are there in the barn?

BinEa—LHEM—LLE, BXREZF|H 40 EZEFM 106
€. MEGZEESDEH?

P11
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33) Find thevalueof1 +2 +3 + ... + 2018 + 2019. [4.2%]

K1+2+3+...+2018 + 2019 Hy1&.

34) Simplify the following fraction. [4.3%]

HELAT 78

35) If the sum of three prime numbers is 50, what is the [4.4%)]
least possible value of the product of the three prime
numbers?

MRE=ZEEHZFES0, FEE=(EAEHZERIVE
%7

P12
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36) In the figure (not drawn to scale), the dashed line [4.5%)]
divides the area of the rectangle in the ratio 1 : 6.

What is the ratio a : b?

IEF'( K EE 191 48 BX )F%%?EEH 2497 B W AR 7
HOomBERLEA B 1:6. Ma:b =7

37) If each letter represents a different digit, then which [4.6%)]
5-digit number does “ABCDE" represent?

ETRF, SXXFHBERTFT—EARBHEF.
[ ABCDE | XFRM—{E R ALETL?

A B C

X A B D
B E E B C

+ D C

o
m
O
m
m

P13
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38) There are some candies. If the candies are shared [4.7%]
among 15 children, 6 candies will be left. If the candies
are shared among 18 children, 9 candies will be left.
If the candies are shared among 20 children, 11
candies will be left. Given that the number of candies
Is less than 1000, find the maximum possible
number of candies.

A—ERER, MREHDHE 15 LMRE, GE8RT 6
AL MRFHTH18M/NAA, BIBRT OAL: IR
T4 20 /MR A, BIBRT 11 K. EFMERD
HELDMN 1000 I, FELERREZHZ DN

39) Given that x and y are integers. At the time y minutes  [4.8%)]

past x in the morning, the angle formed by the
minute hand and the hour hand is 100°. Find the

least possible value of x + .

EMxfy HESEY, MEELF x BFy DR,
RS SERBAER 100° K x + y &/ A8
.

P14
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40) In the figure, ABCD is a square of side 100 m. E and [4.9%)]
F are the midpoints of AB and AD respectively. CF

and DE intersect at G. Find the shaded area in m2.

E 4, ABCD =e— 2K HE 100 XWEAFH. EFF
aHl= ABF1 AD BUFEE. CF#1 DE B G.
BT ERBERS DEFTK?

100 m

End of paper
£H57T

P15
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ANSWER SHEET
[ ] [ ] [ ] [ ]
ANSWER ANSWER ANSWER ANSWER
1
1 1107 o 17 |o*® 2(B + 8) o 01:00 O
19 £ 16 27
2 O 12 ﬁ O 22 O 32 O
180 42 186 2039190
3 O 13 2_0 O 23 O 33 O
s 896 O 14 8 O 24 2016 O 34 2; O
3
. 56 |ol= 5 o= E%E@ ol= 430 |5
6
11.1 O 1200000029 O 26 8633 O 36 25 O
7 5.422 O |72 600 000| Pze%tafoﬁfj@fimid o7 28510 O
o 20 |qle 21 |lw 2115 ols 891 |
s 0.024 O 19 253 O 29 315 O 39 27 O
10 0.02 O 20 30 O 30 324 O s 2000 O
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